
Quiz 3
Question

a) Generate solutions for the Given Problem

“How can we change the rules of basket ball play so that players with height 5ft
7inch can be more competitive?”

b) Describe Osborn’s list?



Quiz 3 Solution

a)
• Lower the height of the basket

• Two separate baskets

• Tall players can't block

• Tall players can't rebound

• Tall players can't dribble

• Tall players can't lump

• No fouls on short players

• Tall players can't look at the basket

• Tall players can’t use the backboard

• Play in zero gravity

• Some players on each team under 5’9”

• Short players’ baskets count more

b:
Osborn’s Checklist – (S.C.A.M.P.E.R)

• Substitute

• Combine

• Adapt

• Modify (Magnify, Minify)

• Put to other uses

• Eliminate

• Rearrange


